% @ % 6:6 fyra brak, decimaler, ordningsfoljd

namn: Datum: Poang: _
i9+%—2x15= %+;gx2_é:

3735,7-3%2,7= ¢3+§x3+10x11+5=
%—%—2><5,5= %+2—2><%=

2,6=20x4,5+4+5%2 = %+19x2+12x19+3=
¢8+§X4+3: 4,5+5,9x4+9x2,8+3=
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BAQDEL

fyra brak, decimaler, ordningsfoljd

namn:

3 7
59+ 2-2x35=(—_
Ot 77272335=05)

54 4
3_5,7_3 X2,7:(_?):(_IO§)

—2x5,5=(11)

N =
N =

99 9
2,6-20%4,5+4+5%2=(~5)= (-975)

3 51 1
4,8+ x4+3=""=10-
s 5 5

Datum: Poéng:
1 2
- +2,8 2_1222 _3
6 3 30
2 33 1
4,3+ -x3+10x5,1+5=— =16=
’ 3 ’ 2 2
1 1 5 1
—+2-2%x —=—-=1]-
4 2 4 4
1 356 11
-+ 2+12 +3=—=23—
3 3,9x x3,9+3 T 315
73 1

4,5+5,9x4+9x2,8+3=— =136
b b 5 2 2
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